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Wendy bought a pack of 
six waters.  It cost $3.06.  
How much did each water 
cost?

What is 19 less than 499? Write the least possible 
4-digit number using only 2 
different numbers.

J,  K,  J,  K,  J,  K,  J,  

,   J,  K

A book has 4 pages.  Each 
page has 10 dimes.  How 
many dimes in the book?

What is the sum of 10 and 
743?

(11 - 8) + 6 It was 2 degrees above 
zero in the morning.  By 
afternoon the temperature 
rose 18 degrees.  How 
warm was it?

Round 65,750 to the 
nearest hundred.

How many minutes is it 
from 7:00 a.m. to 10:40 a.m.?

What 3 coins add up to 51 
cents?

The perimeter of a 
rectangle is 20 cm.  The 
longer side is 6 cm.  How 
long is the shorter side?

It was 5 degrees below 
zero in the morning.  By 
afternoon the temperature 
rose 28 degrees.  How 
warm was it?

11,  13,  15,  17,  ,   21,  

23

11 x 6 + 11
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How many times
do you need to spin?

I needed to spin
time(s) to finish the page.

2 + 1 =

4 + 8 =

6 + 2 =

7 + 7 =

8 + 5 =

5 + 4 =

3 + 6 =

1 + 4 =

9 + 4 =

Spin fidget spinner.  Quick! I needed to spin time(s) to finish.

4 - 3 = 4 + 3 = 5 x 4 = 8 + 4 = 9 x 7 =

24 ÷ 3 = 5 + 8 = 5 + 9 = 12 ÷ 3 = 8 x 8 =

7 + 8 = 4 + 7 = 9 x 5 = 8 + 3 = 9 - 7 =

5 + 5 = 8 + 5 = 32 ÷ 4 = 3 x 7 = 3 + 4 =

5 x 4 = 4 + 5 = 5 - 4 = 3 + 6 = 5 - 3 =

10

9 1

12

6

10

7

17

8

11

7

79 + 9 = 58 + 4 = 46 + 7 = 24 + 3 = 69 + 3 =

38 + 9 = 17 + 5 = 46 + 4 = 65 + 7 = 73 + 8 =

13 + 6 = 53 + 3 = 38 + 3 = 23 + 8 = 44 + 8 =

26 + 5 = 54 + 7 = 35 + 6 = 75 + 3 = 14 + 8 =

67 + 9 = 53 + 4 = 47 + 5 = 37 + 6 = 65 + 7 =

28 + 3 = 77 + 4 = 14 + 6 = 13 + 9 = 39 + 3 =
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How many times
do you need to spin?

I needed to spin
time(s) to finish the page.

3 + 8 =

6 + 7 =

2 + 6 =

9 + 1 =

7 + 8 =

1 + 4 =

8 + 9 =

4 + 1 =

5 + 4 =

Spin fidget spinner.  Quick! I needed to spin time(s) to finish.

3 x 3 = 4 + 9 = 4 + 6 = 5 x 8 = 24 ÷ 3 =

3 + 6 = 6 x 7 = 9 + 6 = 7 + 3 = 9 ÷ 3 =

7 + 7 = 8 - 3 = 8 + 5 = 4 + 8 = 4 x 3 =

4 x 5 = 6 + 4 = 4 x 5 = 6 + 6 = 9 - 3 =

81 ÷ 9 = 5 + 8 = 7 + 5 = 8 x 9 = 3 + 5 =

4 x 6 = 6 + 7 = 7 x 5 = 8 + 9 = 40 ÷ 5 =

17

9 8

9

6

13

6

9

3

14

9

66 + 7 = 47 + 4 = 35 + 4 = 78 + 4 = 29 + 5 =

56 + 4 = 13 + 7 = 37 + 5 = 25 + 3 = 54 + 4 =

48 + 5 = 68 + 7 = 16 + 3 = 79 + 6 = 67 + 6 =

47 + 3 = 13 + 8 = 77 + 7 = 23 + 3 = 33 + 7 =

54 + 8 = 18 + 3 = 25 + 9 = 33 + 4 = 43 + 6 =
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Uncle Allen walked to 
school when he was a 
child. He said it was fun, 
especially in the winter. 
Then he and his best 
friend had snowball 
fights on the way! It 
took them 24 minutes to 
walk to school. If school 
started at 8:00 a.m., 
what time did they have 
to leave home to get to 
school on time?

April needs at least 36 
minutes to get to school. 
School starts at 8:15 a.m. 
What is the latest she 
can leave?

On Wear Your Pajamas to Work Day, all 220 of the office workers in the Sinclair Building wore their pajamas. !fs! 2
5!fe! of them wore blue pajamas, 

1
3

 of them wore red and 

white pajamas, and the rest 

of the office workers wore 

other colors. How many of 

the office workers wore 

other colors?

Which is the smallest?

35.7 ÷ 3.2 35.7 ÷ 3.3 35.7 ÷ 3.4

Write an equation to represent this:

The product of eleven and five is fifty-five.

1 lb = 16 oz

23 lb = oz
6 6

- 1 4
6 x 7 = 25 kg = g

(7 + 6) + 3 = 3 4 5
+ 2 6 9

Circle the relative adverb.
why, until, if, so

For 841,442,879,579,138, write 
the digit that is in the hundred 
thousands place.
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Circle the smallest number:
180,572,950 34,962,351,480
91,782,056 6,934

Write the missing family fact.

151 - 79 = 72
79 + 72 = 151
151 - 72 = 79

How many grams are in 3 kilograms?

 grams

List five of the smallest whole numbers 
that are greater than 17, are multiples of 
3, and are not multiples of 8.

What time is 17 hours after 
3:00 p.m.? 2 5

+ 3 4

David invented a robotic bug.  The bug 
can crawl three centimeters in sixteen 
seconds.  How long would it take the bug 
to crawl twenty centimeters?

Can 814 be evenly divided by 3? Circle:
814 is evenly divisible by 3
814 is NOT evenly divisible by 3

5 7 5
- 3 3 3

Circle the word that is a synonym for the 
word delighted . {Delete extra space 
before the period.]

displeased, pleased, exasperated

72 ÷ 9 = 

Circle the word that best 
completes the sentence.

My friends (went, gone) to the 
movies together last night.

Insert a comma in the appropriate 
place in this sentence.
We could study at your house 
after school or we could go to 
the movies instead.
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The vowels are missing in the word search.
Fill in the missing vowels and circle the words.

P T M S T C

S L R N K

P D R C H R N

R L F T N G T J

S B T

S T V C L L Y

R B G N B

T L L R C K T

L Y G K V T

K D U S K M T

VETO OMIT OPTIMISTIC
NONE DESTROY ENJOY USUAL
DUSK LIFT ARGUE VOCAL
RICH KETTLE BEGIN PROSE
ROCKET

In the number 331,210,290,539, the digit 5 is 
in what place?

4 x 10 = 
Megan has two favorite 
numbers.  If you add her 
favorite numbers, you get 26.  
If you multiply her favorite 
numbers, you get 133.  What 
are her mystery numbers?

15 ÷ 5 = 

Circle the addition property 
for 60 + 81 = 81 + 60.

associative property
commutative property

Write this as a number in standard form.  
Use a comma in your number.

five hundred sixty thousand four hundred 
ninety-one

word root stell can mean star constellation, stellar

99 ÷ 9 = 
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8 6 5 x 8 = 4 0 ÷ ÷ 2 3 2 1 1 6
4 8 0 6

Use the pieces above to help you fill in the runaway math puzzle.

Write 2,723 in words.

Circle the digit in the tenths place.

738.3768
9 x 11 = 

x = 4 8
1
÷ 1 2
9
= 8 = 4
9 x = 2 7 5

= x = 7
5 1 4 3 x

= x 7
5 x = 0 =

4 x = 2
7 x = 5 6 3 9

=
3 ÷ = 5
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This puzzle has a large number in the middle, which is the sum of the four numbers that surround it.

Sample:
46.4

is the sum
27.4 9.6

4.3

5.1

32.3
is the sum

15.8

2.6

4.3

37.6
is the sum

3.5

8.7

9.6

Example:
27.4 + 9.6 + 4.3 + 5.1 = 46.4

Example:
15.8 + 3.5 + 8.7 + 9.6 = 37.6

Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: 25.5, 15.8, or 27.4.
The other three numbers have to all be DIFFERENT and must be from these: 5.1, 9.6, 
8.7, 4.3, 3.5, or 2.6.

38.49.6 8.7

4.3

15.8

32.2 2.6

5.1

less than 25.5

15.8

41.1

8.7

even

48.1
greater than 3.5

4.3

even

greater than 4.3

27.8
odd

greater than 3.5

30.6
less than 9.6 either 3.5 or 9.6

less than 25.5

8.7

either 3.5 or 9.6 either 15.8 or 8.7

even

25.5

38.4
either 15.8 or 8.7

greater than 4.3

27.85.1

less than 25.5

greater than 3.5

either 2.6 or 3.5

31.4
less than 25.5

less than 25.5

even

greater than 2.6

less than 15.8

9.6

odd

either 4.3 or 2.6
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Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: 16.6, 26.8, or 15.6.
The other three numbers have to all be DIFFERENT and must be from these: 0.3, 1.4, 
9.1, 8.4, 5.8, 6.9, or 7.7.

38.58.4 5.8

16.6

7.7

29.7
even

6.9

15.6

1.4

36
even odd

15.6

odd

odd

0.3

8.4

26.8

31.5
greater than 0.3 either 0.3 or 5.8

less than 8.4

27.4
either 0.3 or 5.8

16.6

either 9.1 or 7.7

31.8
odd

less than 9.1

43.9
odd either 7.7 or 0.3

40.9
greater than 0.3

less than 8.4

odd

51.2
less than 16.6

either 9.1 or 7.7

even

31.1
less than 16.6 greater than 1.4

less than 9.1

even

24.1
greater than 1.4 odd

either 15.6 or 0.3

less than 26.8

37.5
either 7.7 or 6.9

odd

either 8.4 or 5.8

28.6
greater than 9.1 even

even

31.5
even odd

even

32.6
odd less than 15.6

less than 26.8

odd

44.6
either 9.1 or 0.3 odd

either 8.4 or 5.8

42
odd even

less than 26.8

even

either 7.7 or 6.9

greater than 0.3

either 5.8 or 7.7 even

odd

less than 15.6
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5 1 5 2 1 2 3 2 1 2 4

4 2 0 9 1 8 7 5 6 2 1 0

736 ÷ = 8 468 ÷ = 9

÷ 12 = 6 ÷ 2 = 79

÷ 2 = 46 282 ÷ = 6

÷ 9 = 93 560 ÷ = 70

56 ÷ 7 = 21 ÷ 3 = 72 ÷ 9 =

28 ÷ 4 = 12 ÷ 2 = 20 ÷ 4 =

14 ÷ 2 = 35 ÷ 5 = 28 ÷ 7 =

16 ÷ 2 = 32 ÷ 4 = 12 ÷ 3 =

3 6 0 7 5 3 2 33 6 6 29 5 8
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72
+

49

64
+

51

72
+

49

61
+

13

53
+

28

54
+

17
+

37
+

9 21 16

+

+ +

22 20 16 21

+

55
+ +

16 39 19 12

+

+

50
+

+

16
+ +

12
+

24 8 9 6 8 4

95
+

68
+

27
+

18
+ +

13
+

14
+

9 31 8 5 9

Yummy Donuts gave three 
dozen chocolate donuts 
and five dozen jelly donuts 
to the school.  How many 
donuts did they give?

What is the area of a 
rectangle with sides 4 cm 
and 11 cm?

How many meters are 
there in 25 kilometers?

word root struct can mean build construct, destruct
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7 + n = 35 What is the least common 
multiple of 2 and 6?

What is the least common 
multiple of 10 and 15?

Write all the factors for the 
number 35.

What is the greatest 
common factor of 9 and 12?

What is the least common 
multiple of 6 and 15?

What is the greatest 
common factor of 2 and 14?

x + 4 = 13 31 - n = 17

-4 + -6 = -7 - 2 = -6 + -3 =
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4000 - 900 = 

A) 5,500

B) 3,107

C) 3,100

D) 3,600

Which answer has the greatest unit size?

A) 1199 lb

B) 1878 tons

C) A and B are equal.

65 + 22 + 5 + 10 = 

A) 1,368

B) 102

C) 109

D) 112

Which of the following numerals has an 8 in 
the thousandths place?

A) 4.8912

B) 5.2189

C) 6.8921

Sierra is driving to meet her friend at the 
coffee house. She looked at her watch and 
saw it was 3:45.  If she is supposed to meet 
her friend at 4:39, how much time does she 
have?

A) 54 minutes

B) 83 minutes

C) 28 minutes

D) 68 minutes

Jane's house has a garden that is in the 
shape of a square.  If each side of the 
garden is 17 feet, then what is the perimeter 
of the garden?

A) 81 feet

B) 34 feet

C) 68 feet

D) 45 feet
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5 3 5 6 6 5 7 2 2 9 5 4 5 7 8 5 1
1 4 9 6 6 3 2 8 7 4

Use the pieces above to help you fill in the runaway math puzzle.

Find 31% of 1. 1 is what % of 4?
Change to a percent.

81
100

It was 4 degrees above 
zero in the morning.  By 
afternoon the temperature 
rose 18 degrees.  How 
warm was it?

The perimeter of a 
rectangle is 14 cm.  The 
longer side is 5 cm.  How 
long is the shorter side?

What 5 coins add up to 66 
cents?

+ = +
+

x = =
=

÷ +
- = -

= =
÷ =
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Circle words to the RIGHT or DOWN.  Every letter is used exactly ONCE.
C T A X A E R O N A U T I C S
O S A N D C O N S C I O U S A
U T F I X T O O P A R D O N V
G I C O M P E T I T I O N S O
H R T I N D U S T R Y S O W I
I R E N A R E I N S T A T E D
N E S O I I F M O M S C A S T
G D T T M A G G R E S S I V EWrite the words found.

AGGRESSIVE CAST

Circle words to the RIGHT or DOWN.  Every letter is used exactly ONCE.
I L H P R A C T I C A L L Y
N B O A O A S I S W H A L E S
T U G Y T I P R A I S I N S
E R I N D E P E N D E N C E S
R G L C O P Y P A S T P T
E L I T R A N S L A T E I S O
S A E I D E N T I T Y G K O
T R A R I T H M E T I C S Y DWrite the words found.

STOOD RAISINS
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Select the word or phrase whose meaning is closest to the given word.

WRATH

anger
kindness
control
specter

holiday decoration

KINETIC

gliding
torrid
static

imaginative
dynamic

QUELL

write out
suppress
expand

lengthen
type of bird

FALLOW

relevant
uncultivated

sagging
compatriot

fiscal

ROBUST

overweight
vigorous

broken
round

robotic

BAR

admit
block

expunge
exhaust
protect

INERT

incapable
energized
oscillating

flexible
motionless

THRIVE

writhe
stifle

quash
flourish

sonorous

Now find the given words AND the answers in the word search.  If you can't find an answer, you might be wrong.

T T E I N E R T E W V W N R U N C U L T I V A T E D A A Y J D D S N

G O L E V U O T L P I T D M T N S N L N H B N V R N E O G H E E T C

U N I E S H T E M O T I O N L E S S U T T I L I L A M O U O G O Q L

G A F O O E V I R H T R I T R L B R S L W U Q D F C R T R E A L O D

T C A S A H S I R U O L F T S E A E G E O U M K I M T P H T A R W L

T L I K I N E T I C A R S O R A G U N F A L L O W A T B A R G P S E

N O E S H T T Y N H B L O C K R L N B I P L U S C I S U P P R E S S

O R R R I I E K S U O R O G I V V N A L S N E Q U E L L I J A F I H

R T Q A E S V H U D Y N A M I C T N K S V B R O V A I A A Q T E P N

O I C H R P F I T S U B O R C N U C B S I S U I K U S I R A C B U T
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Each row, column, and box must have the numbers 
1 through 6.  The first box is done.

6 2 4 3

3 1 5 2

5

4

1 3 5

6 2

Each row, column, and box must have 6 different pictures.
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Words can be to the RIGHT, DOWN, LEFT, or UP.  Every letter is used ONCE.
A O T O R S M U S A R O S E G
N R E G O T S T E H C T A H A
T O A L A N O I T P E C X E L
L T R Y O U N G H U G W A J L
U A G R A N D F A T H E R S E
F T A D E C L I N E C O A L R
W O S N O I T A T I V N I Y
A P C E N T U N W I L L I N GWrite the words found.

UNWILLING GALLERY

Eight kids and two adults are going to the circus. 
Kid's tickets are on sale for only half the price of 
adult tickets.  The total cost is $56.  How much is 
one kids ticket?  How much is one adult ticket?

Write a letter that has a line 
of symmetry.

Write a letter that has two or 
more lines of symmetry.

word root gress can mean step digress, digression, progression

What root word do these words 
have in common?
bankrupt, rupture, disrupt, interrupt
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